PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS

ITEM NO. / ARTICLE NO. / ARTICULO N O :S542-275/276/407

DESCRIPTION / DESCRIPCION : 6/6-6/0 PNL SLEIGH HB - 6/6-6/0 TETE DE LIT SLEIGH - 6/6-6/0 DEL TRINEO CABECERA
6/6-6/0 PNL SLEIGH FB/SLATS - 6/6-6/0 TRAINEAU PIED DE LIT/ LATTES - 6/6-6/0 PIE DE CAMA DEL TRINEO/ LISTONES
6/0 PNL SLEIGH RAILS - TRAVERSES DE TRES GRAND LIT CALIFORNIEN - TRAVESANOS LATERALES DE 6/0

9

x1 Headboard Legs ( Right) * x1 Headboard Legs ( Left) * x1 Footboard Panel X2 Bun Foot
x1 Pattes de la téte de lit (gauche et droite) x1 Pattes de la téte de lit (gauche et droite) x1 Pied de lit x2 Pied en forme d’ignon
x1 Patas de cabecera (izquierda y derecha) x1 Patas de cabecera (izquierda y derecha) x1 Panel de pie de cama X2 Pata redonda

/
® ® ®

x1 Stretcher rail * x2 Side Rail Xg LS|at3 * x10 Slat support leg %
x1 Support de lattes x2 Traverse X5 Lattes x10 Pattes centrales
x1 Soporte de listones x2 Travesafio lateral x5 Listones x10 Patas centrales

x1 Headboard panel
x1 Téte de lit
x1 Panel de la cabecera

=
® @ ® ©

X6 Allen bolt @5/16"x45mm *

X6 Vis a téte creuse hexagonale @5/16"x45mm
x6 Perno Allen @5/16"x45mm

x14 Lock washer @5/16" ¥ X6 Flat Washer @5/16"x19x2mm % x8 Flat Washer @5/16"x16x2mm %
x14 Rondelle de blocage &5/16" x6 Rondelle plate @5/16"x19x2mm x8 Rondelle plate @5/16"x16x2mm
x14 Arandela de Seguridad @5/16" x6 Arandela plana @5/16"x19x2mm x8 Arandela plana @5/16"x16x2mm

) SIIID @ p— @
Y © ® o ® @

x1 Allen Key 4mm % X2 Hanger Bolt @5/16"x115mm* x8 Hanger Bolt @5/16"x100mm % «8 Hex nut @5/16"x6mm¥ %2 Hex nut @5/16"x18mm™* x1 Open Wrench @5/1 6% x10 Screw #8x30mm ¥ X2 Half moon washer
x1 Clé hexagonale 4mm x2 Boulon-vis @5/16"x115mm x8 Boulon-vis @5/16"x100mm x8 Ecrou hexagonal @5/16"x6mm  x2 Ecrou hexagonal @5/16"18mm X1 Clé a fourche &5/16" x10 Vis a bois #8x30mm
x1 Llave Allen 4mm x2 Perno de suspension @5/16"x115mm  x8 Perno de suspension @5/16"x100mm  x8 Tuerca hexagona @5/16"6mm x2 Tuerca hexagona @5/16"x18mm x1 Llave de boca @5/16" x10 Tornillo para madera #8x30mm

* Replaceable Part

Page 1 of 3 Residential Use Only Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com




ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO N O :S542-275/276/407

DESCRIPTION / DESCRIPCION : 6/6-6/0 PNL SLEIGH HB - 6/6-6/0 TETE DE LIT SLEIGH - 6/6-6/0 DEL TRINEO CABECERA
6/6-6/0 PNL SLEIGH FB/SLATS - 6/6-6/0 TRAINEAU PIED DE LIT/ LATTES - 6/6-6/0 PIE DE CAMA DEL TRINEO/ LISTONES
6/0 PNL SLEIGH RAILS - TRAVERSES DE TRES GRAND LIT CALIFORNIEN - TRAVESANOS LATERALES DE 6/0

e ~

AN
AN

\\Steps 4

©,

* Replaceable Part

Page 2 of 3 Residential Use Only Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com




REPLACEABLE PART/ PARTIE REMPLACABLE/ PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO./ ARTICULO N O :S542-275/276/407

DESCRIPTION / DESCRIPCION : 6/6-6/0 PNL SLEIGH HB - 6/6-6/0 TETE DE LIT SLEIGH - 6/6-6/0 DEL TRINEO CABECERA
6/6-6/0 PNL SLEIGH FB/SLATS - 6/6-6/0 TRAINEAU PIED DE LIT/ LATTES - 6/6-6/0 PIE DE CAMA DEL TRINEO/ LISTONES
6/0 PNL SLEIGH RAILS - TRAVERSES DE TRES GRAND LIT CALIFORNIEN - TRAVESANOS LATERALES DE 6/0

5
8

x1 RS542-275-LEGR-Right Leg®
Patte de droite
Pata derecha

x5 RS542-276-SLAT-Slat %
Lattes
Listones

B

x10 RS542-256-SCREW- Screw %
Vis
Tornillo

x1 RS542-275-LEGL-Left Leg *
Patte de gauche
Pata izquierda

x10 RS542-276-SULEG-Slat support leg %
Pattes de supports
Patas de apoyo de listones

S

x4 RC-BL-NAIL-Black Plastic Nail *
Clou en plastique
Clavo de plastico

x1 RS542-255-HWKIT-Hardware Kit %
Liste des pieces de quincaillerie
Lista de materiales

x1 RS542-407-HWKIT-Hardware Kit*
Liste des pieces de quincaillerie
Lista de materiales

x1 RS542-275-Safety rail %
Garde-corps
Baranda de seguridad

9

x2 RS542-251-FOOT- Bun Foot®
Pied en forme d’oignon
Pata redonda

* Replaceable Part

Page 3 of 3

Residential Use Only

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www.myfurnitureinstructions.com




